1000/0 2do)/d(m_1 + m_2) [1/GeV]

=
<
I

Ratio to CMS

=
o
w

=
o
N

=
o

=

-
o
R

|
o
@

[EEY

0.5

7000 GeV pp W+Jet
— T 1 " 1 T — 1 1 " 1 T — T T T T 1 T T
= | | s
- Trimmed jet mass (anti-k_(0.7), 2300<p_<450, |y|<2.5) =
Z 1=
(Q\]
—— — CY)-
= N
— J mis)
S
I /;.;' Q‘*B"‘:w:\\ 1 ‘_|
—— ﬁf;’/ .\;ﬂ?%_:.. . —
= TS -~ Ho
— W S 3>
- L S 1z
| = cMs B
= [+ Pythia 6.428 350 =
. ---&-- Pythia 6.428 351 —%
[ --¥-- Pythia 6.428 352 7 %
= A Pythia 6.428 353 =P
— . JO
-G~ Pythia 6.428 354 s 1%
— - Pythia 6.428 355 12
= & Pythia 6.428 356 =5
— Pythia 6.428 357 =
Z Pythia 6.428 358 <
| =~ Pythia 6.428 359 3
— 30
~ 40
| 1O
| ] (@]
| &
| =
— —2
= -
1
- 8 :'é _
o & 05
| " 1 1 1 1 " | " 1 1 1 1 " | " 1 " 1 1 \? 1 " |
0 50 100 150

(m_ 1+m_2)/2[GeV]



	Contents
	Page 1


